Choose the alternative which is closely resembles the water-image of the given combination.
GRO9BAPT76ES

(1) CB68VbASER2 (2) CHOB8VbASE®?

(3) CKdB8VbARGE®? (4) CEOBAbLCES
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Choose the alternative which is closely resembles the mirror image of the given combination.

Nu56p7uR

(1) AluedqYuA (2) AnTgqdcnM
(3) AuYqdcuM (4) AuYd9cuMn
)1

3 2

3 3

) 4

Observe the dots on a dice (one to six dots) in the following figures. How many dots are contained on the face opposite to that containing four
dots?

(i (ii)
)2
'3
) 6

2 Cannot be determined
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Choose the alternative which is closely resembles the water-image of the given combination.
GR9BAP76ES

(1) CB68VYbASE®R (2) CHOB8VbAY9E®?2

(3) CBa8VbARGE®? (4) CKO8ABLRES

oW p =

Maroon is shade of:

Cobalt Blue

Burnt Sienna

Ivory Black

Crimson Lake
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Which one of the following sentences is
grammatically correct?

‘Whose that young child?’ exclaimed the lady,

whose plants the child had just trampled down.

‘Who's that young child?' exclaimed the lady,

whose plants the child had just trampled down.

‘Who's that young child?' exclaimed the lady,

who's plants the child had just trampled down.

‘Whose that young child?’ exclaimed the lady,

who's plants the child had just trampled down.

Which one of the following is not an anagram
of a country?

A THIN LAD

ALAS | MAY

OILA COMB

ANOBLE CAR

BAG HANDLES
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Which color combination has high contrast?

Violet & Crimson Red

Lemon Yellow & Ultramarine Blue

Viridian Green & Ivory Black

The had a to
remain as the train left the
platform.

Which is the only one of the following
combinations that contains the correct three

words to be inserted into the above sentence?

superintendant tendency,stationary

superintendent, tendancy, stationary

superintendant, tendency, stationery

superintendent, tendency, stationary
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Multiply the second lowest odd number in the
left-hand grid by the third highest even
number in the right-hand grid.

LEFT RIGHT
13|20| 4 |10 | 3 15(32 |18 |17 | 40
20| B (23|17 |18 44 | 7 |63 |28 | 56
2|1 9|6 |31 |21 26| 16|48 (23| 8
19|22 |14 |11 |12 42 | 25| 3 |35 | 46
24 (15|25 |16 | 27 72(19|38 |10 85
Which is the missing circle?
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Ellora caves belongs to which religion

Jain

Hindu

Buddhist

All of them

Who is the Architect of Tajmahal

Mimar Sinan

Ustad Ahmad Lahoun, Ustad Isa

Raja ibn Haywa, Yazid |bn Salam

Muhammad ibn Yusuf ibn Nasr
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Find the odd one out.

Dilip Chhabria

Manish Malhotra

Rahul Mishra

Kiran Uttam Ghosh
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